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30. What is the force required to move a body of
mass 1000 kg if the coefficient of friction is 0.4
(assume 1kg = 10 N)?

e, &7 T 0TI 0.4 8, oY GeIATeT ol dsiel 1000
TRelaId Wider & ToIT 31ma2Teh g fohdaT ofP1am.

a) 4000 N
b) 400 N
c) 40N
d 4N
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31. What is the co-efficient of friction if a force of

30 N is required to move a body of mass 35 kg
(Assume 1kg=10N)?
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32. How much force is required to move an object
weights 20 kg, if the value of y = 0.24?

20 TRATATe TaieT T S13T Sl Wikt & Tl v gof
T ATTLTRT Bl &, TTe, Y = 0.24 FT HATA?

a) 4.8 kg
b) 83.33 kg
c) 1.2kg
d) 0.48 kg

33. What is weight of an object could be moved by
a force of 30 kg if co-efficient of friction is 0.01257?

e, ayoT &7 9[0T 0.0125 &, Al Fohelel dofe T a&

Solutions and Explanation on
YouTube Channel

30 ThaIT & SoT & o ST ST TehelT &7
a) 80 kg
b) 2430 kg
c) 72000 kg
d) 2400 kg
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34. What is the angle of inclination if a weight of
150 kg is in equilibrium and the value of y is
0.57737?
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35. How much force is required to just slide a 20
kg object lying on a horizontal table if the p is 0.2?

Ife p 0.2 &, ar &ifast arfersr @ 93r 20 fRar &r
qEJ H FHddl TS Hal & fAT fhdar ao
JTARIHAT glell 872

a) 2kg p~9

b) 3 kg ‘

c) 4Kkg - |
d) 5kg =3 Fa

36. What is the force required to move a 20 kg
object with a co-efficient of friction is 0.24?

EYUT & J[UTIeh 0.24 & 1Y 20 TR 3ffeoiere i

TITATIRT A & foIT 3TITe ool FAT &2
a) 4.8 kg p=9
b) 0.48 kg
c) 0.048 kg w=2<=
d) 0.0048 kg g s
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37. What is co-efficient of friction for pulling a load
of 400 kg by a force of 40 kg?

40 el & ST T 400 THell 3T YR Tist & forw ayor
o (0TI T g2

Solutions and Explanation on
YouTube Channel

a) 0.01 =7
b) 0.2
c) 0.1 =
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38. How much will be the co-efficient of friction for
moving a body of mass 80 kg by a force of 40 kg
on a horizontal surface?

AT Tag T 40 fholland & 9T ¥ geIHAT 80
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39. How much will be the weight of a body which
will be moved by a horizontal force of 50 kg
against a frictional resistance of 0.25?

Teh SRR T Folel Tohcell BT o1& 0.25 & a¥or
9fae & T&eh 50 fhelland & aifdst dof garT

TATATART fohaT STTam? @ omg
FA"/-—,?
a) 150 kg e
b) 200 kg poigrotn
c) 250 kg -
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Solutions and Explanation on
YouTube Channel

40. What will be the approximate angle of
inclination of an object if the co-efficient of friction
m=0.847

e 0T m = 0.84 T I[0TIeh & it Feh el a&c] o a1
T 37T ATIC SHIOT FT g2

a) 60°
b) 45°
c) 40°
d) 30°
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41. What is the work done to move a body of mass
60 kg to a distance of 5 meters, if the co- efficient
of friction between body and the plane is 0.2?

IR 3R Tt & ofrer &7 &7 3[0Tieh 0.2 glel W 5
HeT T gl W 60 TRl & GeTAT A FAEATART
FeA & U fhder w1 forar Srar &2

a) 12 kg

b) 60 kg

c) 12 m-kg
d) 60 m-kg
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42. How much will be the work done in moving a
10 kg object resting on a horizontal plane through
a distance of 10 meter (assume y = 0.15)?

10 #HieT T gt & AETH F &S told W HRA

43. How much force is required to stop a vehicle
of mass 1000 kg running on a road with coefficient
of friction between the tyres and the road is 0.4?

X 3N Ao & oI G907 & 0TI & HY H5h N

YA dlell 10 fohell dhr a&d T FAATIRT A A
ERGICCERICEOE R

a) 1.5 m-kg
b) 15 m-kg

c) 0.15 m-kg
d) 150 m-kg
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Solutions and Explanation on
YouTube Channel

Tolel Tl geTATT 1000 ThallFITe & aTge &l Udhal

& foIT fohcTeTT Sof 3Taeaeh g2
a) 3000 kg
b) 450 kg
c) 50 kg
d) 400 kg
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